Day 14 Review.notebook September 24, 2018

1-13 HW Answer Key
la. {7,-4} b. {i,—g}

2° 3
2a. {337} b. {14}
3. {s+02}

5. {+5.7}

6. If we set the equation to O, and factor the left side, we
can set each factor to 0 and solve.(ab=0,then a=0 or b=0).

7. (2x+7)(4x%-14x+49)

8. 4x(2x-3)(3x+1)

9. (x+1)(x+3)(x-3)

10. 2x%+11x-4
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Solve each quadratic using the method given.

1. Factoring: a) x*-3x-28=0

q’?___,zz’ ‘g ) (At ) =0
5= X}'Fi "x:_-l['
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b) 6x% - 11x = 10 (=60
G- —10=0 gz —|
é;;c-JSxHK‘mmﬂ sl

.

74X -5) ¥ A=5)"0

< : 2 T
7.4 (ax~5)( 5K
.é’ ] 3 )frﬁf}mjf‘r—-ﬂ—g -5"33
A 35
2. Square roots: a) (x-5)°=37 b) x* - 14 =
() =37 'S ’*“'Jm
X3 =201 X =g T
PEEREE
3. Completing ﬂ'; squur‘; X lﬂx-l? H 15
[(x=3)7
{5 = + r'ar:li
X=55T (%%
o b

4, Quadratic formula: 5x°-3x-9=0

Asa = () - q{a](fa} g v+ 1P.= 19

X = -{;a) pu

X =53 53 }_3

3 (A=
o

=
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5. Grouping: x*+7x"-5x-35=0
A0 =50 x4 )=0
(X5 )(x+1) =0

T €= = (5 =7
IR NI 235 § 053

6. How dees factoring an equation help us solve it?
I, urt e %Au?iefum B ep,v t. 0O, and
Fhe left side 5 macle &, its factns,
bk (dnset each Factic o0 dnd Jlre-
(g.b:.cx) hton A=0 ar b =D)

Factor completely.
7. 8x" + 343 ﬂ=l:13=7 ) 8. 24{1?3-(%?2&12_13 3) f:—-r;i;
= 4y x4 = Ux(lk=Ix=3) 5=~
(Rt ) Sy liartig3) -an
= ey 3w (2¥=3)HC dy=3) ]

= fo(f?-‘;{-—ﬁ:l{f:k’"i‘l}
o i:_xz— Ox-9
= ) -4 (K1)
= (xx) (x*-4)
= (e ) Oet3) (X3
7 1"?3 e
10. Divide (5= 31 by (x-3). Axrlly =
}(."_3) I;x1+5x1—3?)( o~
~ 2K oK™
Mx=—3M¥
—lxT 455X ~
—{y ¥
+L'r|.ﬁc A

THx Al
O
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1-14 (Review) HW Answer Key

1. 8x%-4x-5

2. 2x2-10x+5 @A}:l% A
3. 9x*+36x+36
4. 8x3-12x%y+2x°-3xy-10x+15y b q:l: S 199 3') 5:-‘:-\’ |3

B. bx-6
6. (x-4)(x-3) l-"
7. (x-1)(3x-1)

8. (y-4)(y’+4y+16)

9. (4x%+9)(2x+3)(2x-3) .

10. {0,6,-2} ah(.% 6

1. {1,-2/5) r—

2. {4 £3) b M 6> (0-_‘:433.
24410 G

13. { 2 }

14, {44_-2\5}

15. 1.2 seconds
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Review

1. Add: (5x2—-7x) + [3x2 + 3x - 5)
2. Subfract: [5x2—7x) - [3x2 + 3x-5)
3. Mulliply: (3x + )2

4. Find the product: {2x—3y) [4x2+ x— 5)

5. Divide (10x2 + 3x—18) by (2x + 3) using long division.

Factor:
6. x2-7x+12 7. 32 —4x+ ] 8. y2- 44 ?. 1é6x4- 81

Solve:
10, 2x3 - 8x2 = 24x 11, 5x2-3x =2 12, x¥3—4x2 - 3x+ 12=0
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13. Solve by using the quadratic formula: 2x2 + 4x =3

14. Solve by completing the square: x2-8x+4=0
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15. In a basketball game, Michael shoots a shot from a position of about 7' above the
ground with an initial verfical and harizontal velocity of 13 fi/sec. The height of the
shotis modeled by the function h(t) =-1612 + 131+ 7, where 1 is the time in seconds
after the shot. Unfortunately, Michael shot an air ball. How long does it take the shot
to reach the ground? Solve algebraically and round to the nearest tenth.
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Alg 2 Homework 1-14(Review)  Name ___XE€Y

1. Add: (5x2=7x) + (3x2 + 3x - 5) = Fg> ~Hx -5~

2. Subtract: (5x2 - 7x) - [3x2 + 3x—5) =< 'ML —quc +-§

e i .

3. Multiply: (3x + 6)2 ane)(samj{ %. -r?;épz raé:

4, Find the product: {2x—3y)(4x2 + x - 5) = ;L + Z»-L 10y “fl}c&-fﬁx% +.r‘5'af

T 5"1. —~f1133+ '.‘4}' —3;04-;#»;: + r‘s‘&

5. Divide [10x2 + 3x — 18) by (2x + 3] using long division.

Sy b N
s l‘"-!lf IO-,L le“‘lg @:}j
LO¥Y 415
' 11w -8
=11y =¥
-
Factor: R .
b, ¥2-Tx+12= 7. 3xE—4x+ 1= 8. y3—64 =3__'-f__ 9. 1éx4-81 =
(O- '-f)fm})“) I 3n-x ¢ Cﬁé L"X‘i}'" 'f? Hb) , ’.'H"ﬂ){‘f‘“@ 8

3x(x-1)-1 ()= y u_;)
- c:-(a;t(' 3 »c-i}‘:) (tffjflf:{/
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Solve: _
10. 2x3 - 8x2 = 24x (11, 5x2-3x=2 12, x3—4x2 —3x+12=0
i
11.3-5"1("-?-% - \I 5-?:!'__3{—;:9 ;F },:_'P(x ""f) _,3(_‘\,:,—!*) =5
e (q,LL_ Yo = l‘L) =0 ; \5-7: S IS Al [\ﬁ-l-fx~gz—.-3j =2
- L3 =
(20(x -eXxe2) = © (Sx(x~)2lc—) =0 | ¥t f ‘:t# -
- . - \‘: .
=0 | Xl =0 | ke 9 | (=i Sx42) = O - V%
¥ 0 e | ¥=-L Y| T0 | %t L@ - .
/é‘“ - = '/L_,: ~HE i 6':,'56} '
{ 06 h\ ! \
- )2 D, 1 E,)- 2/5} —

ot E TR -;:‘ﬁaé
......................... g o ey 220
2L ”ﬂ : =N
L
et ST -
pr AR
w
- &l
o 220
H_—

14. Solve by completing the square: x2 - 8x +4 =0
YE-gx il = =4 He
(‘pe‘*»ib‘:L « 12
‘.‘ q \Jr!‘—l:-

¥ u-q- 1 2-u3
»,g:'-';?d E :.v"f,q- ‘}
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15, In a basketball game, Michael shoots a shot from a paosition of about 7' above the
ground with an initial vertical and horizontal velocity of 13 ft/sec. The height of the
shot is modeled by the function h(t) = -16f2 + 13t + 7, where 1 is the time in seconds
after the shot. Unfortunately, Michael shot an dir ball. How long does it take the shot
to reach the ground? Solve algebraically and round to the nearest tenth.

O = —lt” +13t +7
et =3¢ -7 =0
$= 13EC 40D

o)
f - 12ENET
T an
_t - r’.3+'~frl:t_:I}- i ) 12, - J{a_q"!
. li"' - 9 -
| réqe e
)

Eo 82

e

A Secondt

10
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